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Unit 9 Rationals Quiz Review (111 S pApex 15 wov 't B creait (2))

Find the domain, vertical asymptotes, and horizontal asymptotes for each function:
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Find the horizontal or slant asymptote for #'s 4 and 5:
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6. List all the types of asymptotes that can be crossed.
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7. Which of the following functions has an x—intercept, a vertical asymptote, and a horizontal
asymptote?
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Graph the function and identify all important information. If the function does not
have a certam feature, indicate on the blank by writing "none”.
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